Multiplication par 7 (H)

Calculez chaque produit.

TX 7= I X 7= DX T =
bXT= X 7= 7TxX9=
TxX4= 8X T = DX T =
I9x 7= 7TX 5= 6X 7=
I X 7= Tx0= 4 x7=
TX 7= 7TX 5= 8X 7=
I9x 7= Tx1= 8 X 7=
7T%X 9= 7TX 8= 7TX 3=
TX 7= 7TXDH= 88X 7=
7TX 6= 7TX 5= 7TxX 9=
99X 7= 88X 7= IXT=
6 X 7= 7TX 2= X T =
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Multiplication par 7 Solutions (H)

7T X 7=49

S5XT7=23)

7Tx4=28

9x7=063

1x7=7

TxXT7=49

9% 7=03

7x9=063

7T 7=49

7TX6=42

9x 7=03

6 X 7=42

Calculez chaque produit.

1x7=7

8 X 7 =056

8 X 7 =256

7TX5=23)

Tx0=0

7TX5=23)

Tx1=17

7 X 8 =56

7X5=23)

7TX5=23)

8 X 7 =256

Tx2=14

7x9=063

b X 7=235

6 x7=42

4 x7=28

8 X 7 =056

8 X 7 =506

7TxX3=21

8 X 7 =506

7x9=063

3xX7T=21

8 X 7 =56
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